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TR E 93 b v

E i £ B & % X 1 m E T A Z {8
= 10.00 150 1,500 756 612 540
wm B 10.00 198 1,980 1,782 1,596 1,296
E & 12.00 1,598 19,176 756 411 5
£ B 4.00 116 464 2,160 1,726 1,404
&k & 0.20 1, 680 336 86 71 32
B 3.00 106 318 1,836 1,478 1,080
| 1.00 300 300 540 389 216
= I 5.00 32 160 1, 890 1,553 1,080
w B 2.00 394 788 810 687 540
B 4.00 213 852 1,080 900 756
%% 4.00 1,181 4,724 1, 188 1,005 486
B 5.00 836 4,180 1,080 897 540
TR 5.00 165 825 1,404 1,108 864
= I 3.00 45 135 1,404 1,272 972
BRE 2.00 38 76 2,484 2,021 756
w5 5.00 23 115 2,160 2,024 1,620
B RS 10.00 17 170 2,160

E & 10. 00 150 1,500 3,672 2,970 1,620
B & 10. 00 1,261 12,610 1,566 914 324
£ & 10.00 560 5,600 1,620 1,063 540
E B 4.00 150 600 1, 447 1,026 864
= M 4,00 245 980 1, 080 657 540
wm B 6.00 283 1,698 2,376 1,987 1,080
% )i 6.00 60 360 2,376 2,117 1,080
m A 4.00 6 24 3, 240

m OB 0.10 6,300 630 151 114 65
£E B 0.20 1,200 240 65 47 35
£ % 0.20 150 30 59
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4 Ffn 034 05H 10H s 44 kv

i 4 BE b 2 A & % ¥ o & E F E Z &
HE BRE 10. 00 2,500 25,000 2,700 2,446 1,836
5 U ¥ & 10. 00 80 800 1,836
TaFrIT—n 5 & 10. 00 7 70 3,456
A lvaiva 7 4 UE 13.00 27 351 2,322 2,214 1,944
HEBS B M 0.27 1, 868 508 378 334 248
S EE &5 N 0.25 9,277 2,324 486 339 162
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EB| BE|SE T o gz @D 2B E] 2 B] & 6
FREN | & B | 384|171 11,080 5041 2131 1.200 500
&er0 | ® E | 835 835 | 1.000 540
BAZ5 | = | 940| 490 | 243 155 450 | 1,080 38
06w | & B 100 78 [ 1,599 504 82| 2052 500
Do B B 13 26 | 2080 660 171 1850 841
B & | ® & 149 30| 1620 o3| 119 1,800 200
T 5 " & S S| o972 304
= | = | 255 86 | 1.404 7080 | 169 | 1.500 560
BFEC (R
D=7
=20 X & 30 16 | 6480 3300 14| 4600 2,000
=
5 E & % 5 6 (25920 19,000
BFE<0 | F = 55 55 | 1,500 864
B0 | B & 84 84 | 1.000 540
Llam | B & 20 20| 724 700
% 2| & @ 15 15 | 3240 200
X 8
h = & B 85 85| 1,620 518
5 0| & = 50 22 3333 7188
S E
WO LC B | 8o 80| 232 160
NHo | @ 85| 574 472 576 216 102 350 533
THL | & B 51 S1] 702 163
%HC | W O 157 771 497 380 50| 700 500
= T | & B | 144 109| 713 >88| 35| 650 200
= A F
» > H | R 68| 168 | 1674 132
I3 U O 2 Z 205
FALD | I O YV 74 2970 1044
®eon | X Bk | 121 151 | 1,090 840
7555 | & ® 18 18 | 2320 17,600
=5hon| & B ] 7 5160
NEED
=n5 | & B | 1687| 378| 648 540 | 1300 | 750 250
<ZE<5 57 57 3100 5550
DA S
=D 7 6os | 373 355 | 1,700 1200
BEATHD
BN 0 70 20| 1,296 864
BRNAD
/'D@%ZO
/'D E (__
eI S
5 D IC
G 530 530 | 1,620 640
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B50HAE E[1.741 |«|4.428 700 | [ Ic & ke
WA Lbd /]
Nz D BTHIC /]
WDLEF A DI /]
HED AAWA) /]
Ze) fed] 9 8,800 B Iz C ]
WHDLAT ISEDER /
S2HAF pa) 12 1,404 IR I 4,500
EntF i 15 2,080 mET ]
SAFERT FZ3\H /] 20
FTLhno BT /]
Fuonw|E B[ 20 1,000 BRI =T /] 1,350
REIT DD BRST 1
DFEEFC|A Rl 479 2,280 500 | B30T /1
5 < D2 F[2204 1,463 300 | |sfsns I
RE DX 0 BEAZE I
s |8 R[] 20 1.944 ] /]
+=9 ICHSHES /] 363
FIERE BRF /1
BESAE B X /)
BEH L n<s /]
BENEY SRICLA /]
2L 0¥ ENEES 1]
Brosy
EF500A kg | 920 [ 112,100 550 | | 2Dt I
8 & 13,698 |kg




E=E} ZE{EB R SH34E58108 ()
BATTEE (BI1E-Y]3) 225435 A
+ ') H 35| H xt E 5l

g TEE | BAE| A% | BE | PE | RE | A | 5E | PiE | ZE
] RIGE 45670 14640 50 23 2| 31030 85 37 2
INGg Pk G 24650| 10950 20 10 1| 13700 40 15 0
SP% BA 21250 8010 40 14 1| 13240 70 42 0
H—x—3> B A 13447| 5175 100 42 15| 8272 84 56 10
FILARAA)T7 REHER 10480| 2410 100 77 50| 8070 168 103 50
SPh—* RIFE 10270 5265 50 33 10[ 5005 65 48 0
AR—F R MILE 8650 150 50 40 30| 8500 90 49 10
MLafxEan EER 5240 1690 240 167 120 3550 346 203 80
N EER 5140 1540 130 73 40[ 3600 189 96 30
Abvy EER 4370 1110 80 68 50 3260 100 81 67
S+ A 3935 2295 80 26 5 1640 70 32 0
XYy EER 3920 490 120 85 50 3430 200 129 40
HBaY =R 3525 640 300 260 150 2885 825 263 66
EXRUYAL B A 3500 960 60 41 30| 2540 140 39 30
TE A 2986 411) 6000 710 1 2575/ 1000 453 0
ARIE =HE 2980 550 140 90 30 2430 200 119 40
LY —D7> A 2880 1280 30 21 10[ 1600 35 20 17
E<7 T2 2380 650 75 49 30 1730 80 56 40
TUI7L A 2340 600 40 29 25 1740 94 54 18




